> 2 LuufnidioRmunTinueN 1T AoauS I A

Fulsenudnewdn 6

LD

nraunaideslifudusiunis I




L oW TN BENIFFOLANST |

wfﬂfa mmﬁm&m%% 6

meaumﬁuw‘l&mummmwm

au
ALY 1 IIRINARL

1. S0 -1 =
2. 424 = 2 =
3. 1.21 - 8 =

4, 8646 - 8 =

o. 6.3¥4 - 4

6 08t = 0.2 =

e 2488 - 248 =

& 6860 = 9. =

9. 1434 - 11 =

10. 2.607 - 1.8

mawmmmama
FHHNONISANWWNIUU krooupda’redoico

LLL[ELLL[[




e

LUURN

oooooooooooo *

LdloWsuwTinwen s Aovansa |

P Fudsenadnulh 6

i s

A5 AUNAR L 13T U AETLRUN

au
ALY 1 IIRINARL

I

1. 3.06 -]

[LLOCCCLCC

2. 343 - 2

3 600 -8 =

4, 08126 - & =

oO. 9282 - 6

6. 120 = Q2 =

e 004 -~ L2 =

& obl = 46 =

9. 0Ll - Go =

10. 3.943 - 29 =

| ASOWLANADNADY
FHHNONISANWWNIUU krooupda’redoicomg




e

oooooooooooo *

LdloWsuwTinwen s Aovansa |

L Yudsenudnedn 6

T PRI S——

A5 AUNAR L 13T U AETLRUN

au
ALY 1 IIRINARL

1. 1.14 -1 =
2. ©20 = 8@ =
3. 114 - 2 =

4. #0889 = & =

S5. 7069 - O

& 061 = 04 =

1. 4.16 - 24 =

8. 436 - 31 =

§. 102 - 04 =

10. 3.842 - 3.6 =

ASOWLARADNADY
FHHNONISANWWNIUU krooupdaiedoicomg

[LLCCCLCCL




e

LUURN

au
ALY 1 IIRINARL

1. 242 -1 =
2. B2 = 4 =
3. 718 - 8 =

4. 4.328 - 4 =

5. 8B.356 — %

6. 194 - 0.8 =
T 1,62 =~ e =
& 880 = 2.3 =

9. 0810 - 02 =

10. 4.825 - 4.7} =

| ASOWLARADNADY
FHHNONISANWWNIUU krooupda’redoicomg

[LUOCCCOCC




e

LUURN

au
ALY 1 IIRINARL

1. 4583 -1 =
2. ©056 = 2 =
% ok - 4 =

4. 405286 - 4 =

So. 1015 - 4

,-
7
6. 193 - 0.5 = d
3. 457 - 24 = Q0
00
8 631 - 11 =

8. 1818 -~ 186 =

10. 8.612 = 2.6 =

| ASOWLARADNADY
FHHNONISANWWNIUU krooupda’redoicomg

[LUOCCCOCC




o I
RSO

10.

e

LUURN

000000000000 *

LdloWsuwTinwen s Aovansa |

L Yudsenudnedn 6

A5 AUNAR L 13T U AETLRUN

......................................... %%L@?J“ﬂ
\J10/

PIVINANNY
11.05 - 4 =L____j

A O QO
18.47 - 7 =[ l

®

1661 - 9 = l a—
116 - 0.8 = l
336 - 2.9 = l ’
2834 - 2.7 =) l
51 - 2.4 =[ l
1.03% - 04 = l O
1.402 - 0.5 = l
2513 - 1.3 = l

| ASOWLARADNADY g
krooupdatedotcom

KL NONIS AN BN



P

LUURN

¥
i

au
ALY 1 IIRINARL

1. 10280 - 2 =
2. 1214 - & =
3 1431 -6 =
4. 1.68 = 0.0 =
O 228 =~ L+ =
6. 302 = 2.8 =
1. 442 - 1.8 =

& 1128 = 0.8 =

9. 1.095 - 0.1

10. 8.322 - 2.6 =

| ASOWLARADNADY
FHHNONISANWWNIUU krooupda’redoicomg




P

LUURN

au
ALY 1 IIRINARL

1. 12.217 - 8

I

2. 18.25 - 6

I

3. 10082 - & =

4. 1.0 - 0.5 =

D. 822 - 2.7

I

[LLOCCCLLD

6. 217 - 14

T B8 ~ 18 =

8. 1141 - 0.2 =

9. 1826 - 06 =

10. 8.005 - 1.9 =

| ASOWLARADNADY
FHHNONISANWWNIUU krooupda’redoicomg




LUURN

oooooooooooo *

LdloWsuwTinwen s Aovansa |

FuUsenudne N 6

au
ALY 1 IIRINARL

1. 11.64
2. 13.06
3. 20,15
4. 1.28
o. 2.04
6. 5.01
1. 417
8. 1.184
9. 1.602
10. 4.616

------------------------

|
an
[

I
—
N

I

= 0.2 =

- 0.8 =

- 13 =

KL NONIS AN BN

A5 AUNAR L 13T U AETLRUN

%f

ASOWLANADNADY g
krooupdatedotcom




e

LUURN

oooooooooooo *

LdloWsuwTinwen s Aovansa |

L Yudsenudnedn 6

A5 AUNAR L 13T U AETLRUN

au
ALY 1 IIRINARL

1. 1042 - 1

I

2. 1011 = 1}

I

3 2115 - 4 =

4. 112 = 08 =

o. 4.02 - 2.0

I

6. 0.34 - 1.6

P 829 - 1.8 =

8. 1428 - 0.7 =

8. 422012 - 08 =

10. 3.114 - 2.2

| ASOWLANADNADY
FHHNONISANWWNIUU krooupda’redoicomg

[LLOLCCOCC




